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EXETERZE (K01)

THE4 |R6ELT mSMmmst 35 Haat EREREERE FEX B W MERR - 5hE
TEXS5 B B HERT
THERXSy - T - &R - 5 Hirs AL pie B &FA Yo - S T
B B HERT
= 1 823, 790
TE I T
= 1 115, 050
B s L
= 1 115, 050
s (B R - AJ)) TR IE: AT, B D7 IR5
km 6. 17,700 115, 050
[ES=
= 1 415, 740
TH R T
= 1 415, 740
EIK S (L) BT RE : HehR I 25
m2 2, 600 159.9 415, 740
T
= 1 293, 000
ARIBEE BT
= 1 293, 000
R B A 35
A H 10 15, 500 155, 000
SR i B A
AH 10 13, 800 138, 000
[ERANE Xy
= 1 823, 790
IR
= 1 257, 000
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EXETERZE (K01)

TH4 |[R6EL Mm% - et EREREES FEX B W MERR - 5hE
TEXS5 B B HERT
THERXSy - T - &R - 5 Hirs AL Yo B &FA Yo - S T
HiEGERE (FEHL)
= 1 257, 000
T
= 1 1, 080, 790
Bl g
= 1 738, 000
T =5l
= 1 1, 818, 790
— e P
= 1 415, 210
TS
= 1 2,234, 000
B E K OV 5 i 2 BikE
= 1 223, 400
TG
= 1 2,457, 400




N NN 2 BAME A4 A 2024. 05
1 /ﬁcﬁ‘{ﬂﬂ% e Vickinde! 2024. 05
TSI 1.000-00000 0.0 0
Woo1e % TR (RS TF ER - A7) VESETHE: N, BERE D
BT km BN $ B ] B 17 700
A - B e HAAT HE B &% s
R (B A D) DI
km 1 17, 700 17, 700
NI 17, 700
EAAL 17,700 M, km
N NAWA HAffE A 2024. 05
1 /ﬁcﬁ‘{ﬂﬂ% feaszin ViEkinde! 2024. 05
S IR 1.000-00000 0.0 0
T TERERE (EA) VEZEIBE B bR 5L U B B
BANT m2 BANT T B 2. 600 L 159. 9
A - B e HAAT HE B &% s
HEMREL OF #hX0) - B 55 BLA TE R B, 807 1 9) Gre=h 7 4=t v 2t
), 11. 5kmPA F, £ TOEH
m2 2, 600 129. 1 335, 660
WG E (1)
t 4 20, 000 80, 000
fiy 415, 660
EAAL 159.9 | M,/m2
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13, 800

BAME A4 A 2024. 05
A A A 2024. 05
TSI 1.000-00000 0.0 0
1 HAl 15, 500
K} T 2
15, 500
15, 500
15, 500 M./ ANH
A E FH A A 2024. 05
A A A 2024. 05
S IR 1.000-00000 0.0 0
1 HAl 13, 800
K} T 2
13, 800
13, 800
13, 800 M./ ANH
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